
N = 1441
1441 circles in a circle

radius =   0.024628927168
ratio  =  40.602661787874

density  = 0.874087621016
contacts = 3206

 E.SPECHT
12-MAY-2014

N = 1442
1442 circles in a circle

radius =   0.024618837926
ratio  =  40.619301488741

density  = 0.873977714719
contacts = 3612

 E.SPECHT
12-MAY-2014

N = 1443
1443 circles in a circle

radius =   0.024612466644
ratio  =  40.629816363827

density  = 0.874131181126
contacts = 3566

 E.SPECHT
13-MAY-2014

N = 1444
1444 circles in a circle

radius =   0.024598156520
ratio  =  40.653453001201

density  = 0.873720075236
contacts = 2661

 E.SPECHT
13-MAY-2014

N = 1445
1445 circles in a circle

radius =   0.024590513448
ratio  =  40.666088657092

density  = 0.873781893115
contacts = 3133

 E.SPECHT
14-MAY-2014

N = 1446
1446 circles in a circle

radius =   0.024577738134
ratio  =  40.687226568418

density  = 0.873478296244
contacts = 3496

 E.SPECHT
14-MAY-2014

N = 1447
1447 circles in a circle

radius =   0.024565582493
ratio  =  40.707359586407

density  = 0.873217969154
contacts = 3522

 E.SPECHT
14-MAY-2014

N = 1448
1448 circles in a circle

radius =   0.024555352024
ratio  =  40.724319448835

density  = 0.873093773250
contacts = 3340

 E.SPECHT
15-MAY-2014

N = 1449
1449 circles in a circle

radius =   0.024544613517
ratio  =  40.742136733469

density  = 0.872932738396
contacts = 3280

 E.SPECHT
15-MAY-2014

N = 1450
1450 circles in a circle

radius =   0.024537115896
ratio  =  40.754586000594

density  = 0.873001581933
contacts = 3385

 E.SPECHT
15-MAY-2014

N = 1451
1451 circles in a circle

radius =   0.024530918979
ratio  =  40.764881285978

density  = 0.873162445594
contacts = 3260

 E.SPECHT
28-APR-2014

N = 1452
1452 circles in a circle

radius =   0.024525172805
ratio  =  40.774432373868

density  = 0.873354914828
contacts = 2851

 E.SPECHT
28-APR-2014


